What would your baby lvok like |f both you and your
classmate (Wwho wiil simulate your spouse) have onhe domlnant
gene and one recesslive gene for each of the faclal features
‘t1lustrated In the following pages. In other words, each of
you wlill be heterozygous for each tralt. To determine the
faclal appearance of your chlld, you and your spouse wlli
®ach fllp a coln to determine what blt of informatlon or
gene you wiill contribute to the child. Heads will represent
DOMINHANT (shown with a large lstter) and TAILS will
represent RECESSIVE (shown with a small letter), Flip the
colns teo determine which gene cf each palr you contribute.
Each child wil} have two genes for sach tralit, one from each
Parent. You wll! supply one gene and your spouse wlill
Supply one gene, Record the genetic contributions of each .
Parent on the chart provided. W%hen yeou have determined all
of the features for a partlcular structurs (eyes for
example), draw and color the way the baby wiil look after
al-F -han reached high schaoal age. You and your spouse
wlll produce one chll : '

The tralts indicated by an asterisk are belleved to be
Inherited In the explained manner. Most of the tralts,
however, In this activity were created to {llustrate how
human hered!ty works in a simpilfled mode! and to relnforce
basic genetlics principles, In actuality, inherlted '
characteristics of the face are much mere comp!llcated than
this actlvity fllustrates. Most of these faclal
characteristlics are determined by many genes worklng
together In a way genetlcs do not yet underatand. ¥We hope
you wlll be successful In thls very important role as
parents. Your first task i@ te record your names, as
- parents, on the attached data sheet. :

First, we should determine the sex of the chlild. Which

parent should £iip a coin to determine the sex of the ehild? =

-Heags will be a boy {Y-bear!ng sperm) and talls wiil be a
glrl (X-bearling sperm)>. Glve your child a name and record
the name on your data sheet. Contlnue.

i. PACE SHAPE:

. ROUND (RR, Rr) _ SQUARE (rr)







CHIN SHAPE: Next three ¢lips
VERY PROMINENT <VV, Vv) LESS PROMINENT Cvv)

CHIN SHAPE: ONLY tllp colns for thls tralt 1f chln
shape genotype Is VV or Vv. (The genotype vv prevents
the expre=sion of the next two palrs of gene=n.)

ROUND <(RR, R SQUARE (rr>

\J T Nkl

CLEFT CHIN: 11500%
PRESENT (AA, Aa) ABSENT (aa)

\U/ A\
SKIN COLOR:

To determine the color of skin, assume there are three
wene palrs lnvolved., Flip your colns flrst to determine
the genotype of the flirst palr of genes (AA AL, aa).
Then £l1ip your coins again to detarmine the genoptype of
the second palr of genes (BB, Bb, bb). Fllp fer the
last time to determine the third palr of genes {(CC, Cc,
ccl. 1If your gene palrs are --1-- then the skln coler
18 «w2-w,

Each caplital letter represents an actlve allele for
plgmentation.

- ' - - - B Y,

& capltals - very dark black 3 capltals - medium brown
S caplitals - very dark brown 2 capltals - light brown
4 capltals dark brown t capltal - llght tan.
NO caplital - white



6. HAIR TYPE: 1394S
CURLY (CC> WAVY (Cc?

STRAIGHT (cc)

}\\

7. WIDOW’S PEAK: The haler-line comes to a polnt In the
center of the forehead. 19400

PRESENT (WW, Ww) ABSENT (ww)

8. COLOR OF EYERROWS: Conglder al] eyebrow tralts ¢(pext
three) before drawing. .

VERY DARK (HH) MEDIUM DARK (Hh> LIGHT <(hh?

O, i, et R, o Pt

9. EYEBROW THICKNESS:
BUSHY (BB, Bb> . FINE (bb>

10, EYEBROW PLACEMENT:
' NOT CONNECTED (NN, Nn> ' CONNECTED <nn)

o> e, ,ﬁh..hﬁ_- ! awmmmnmnn-n_-p

1i. EYE COLOR: Darker eyes are produced In the presence of
mare active alieles., In this situation, the large
letters (A or B) repregsent alieles whlch are active iIn
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12,

14,

deposltling dark plament. Small letters <(a and b>
represent alleles which deposit llttle plgment.

Te determine the color of the eyes, assume there are two
gene pairs lnvolved, one which codes for depeositing
plgnent In the front of the lrls and cone which codes for
depoalting plogment In the back of the Iris. Determline
the genotype of the flrat pair (AA, Aa, aa) and then the
second palr (BB, Bb, bb)., If your genotype I8 =--i-- the
eve color Is --2--. In reallty, the determlnation ot
eye color s much more compllcated,

-—1-- -=2-- --1-- -=2==
AABRB Dark brown AAbb Dark blue
AABb Brown aaBB Dark blue
AaBB Brown Aabb;ar8h Light blue
AaBb Brown aabb Pale blue

EYE TRAITS -- NEXT FOUR FLIPS Determine the phenotype
with respect to all four ¢iips before drawlng the eyes.

EYES =-- DISTANCE APART:
CLOSE TOGETHER (EE> AVERAGE DISTANCE (Ee> FAR APART (eé}

EYES -- SIZE:
LARGE (EE» MEDIUM (Eed } SHMALL (ee?

EYES -- SHAPE:

ALMOND (AA, Aad




15. EYES -- SLANTEDNESS:

HORIZONTAL (HH, Hh» UPYARD SLANT (hh?

ety

-

16. EYELASHES: 1%033 ("movie type®
LONG <LL, L1i> SHORT <11y

Mouth and llps tralts wiil be determined in the next
four flips.

17. MOUTH -- SIZE

LONG <MM) AVERAGE (Mm> SHORT ¢mm)
~ o - y A
18, LIPS:
THICK (LL, LI THIN <11)

1?. PROTRUDING LIP:

VERY PROTRUDING (HH» SLIGHTLY PROTRUDING ¢(Hh) ABSENT
¢hh>

< = =




20. DIMPLES: 128610
PRESENT (DD, D4 ABSENT (dd)

(== <=

Nose and ear tralts are determlned ln the next 7 £1ips.
Record vour genotypes on vour data sheet but do not draw
these features untl! all the tralts are establlshed.

21. NOSE SIZE:

BIG (NN> MEDIUM <Nn> SHALL <(nn

T

22. NOSE SHAPE:
ROUNDED (RR,Rr) POINTED (e

23. NOSTRIL SHAPE:
ROUNDED (RR,Rr) POINTED (rr)

i 7
: S

Next four fllps along with the preceding £1ip control
ear tralts.

24. EARLOBE ATTACHMENT:
FREE (FF, Ff) ATTACHED (¢8>

o

\




25. DARWIN’S EARPOINT: 12430
PRESENT <¢DD, Dd) ABSENT (dd>

{

26. EAR PITS: 128704
PRESENT (PP, Pp) ABSENT (pp)

|

27. HAIRY EARS: 13950 (Halry ears |s Sex-]limlted to males)
ABSENT (HH, HR) PRESEST {hh)

28. FRECKXLES ON CHEEKS:
PRESENT (FF, F#) ABSENT (£#)

s @ s O
2

29. FRECKLES ON FOREHEAD:
PRESENT (FF, F3)

The follewing concepts can be explalined and {llustrated
by using this activity:

1. Each parent contributes cne half of sach child’s=s
genetic make-up. More accurately, each parent



